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Test Questions 17B et

1. Using the same axes and the
ly satisfies the inequalities
x=0,y=0and x +2y=8.

ame scales, indicate the region which simultancous-

2. Shade in the set of couples which simultaneously satisfies these inequalities:
x=1,y=0and 5x+2y—10=0.

3. Illustrate the set of points which simultancously satisfies the incqualities
x=0,y=1; 2x +y=8 and 2x + 3y = 12.

4. Shade in the set of couples (¥, y) which simultancously satisfies these inequalitics:
y=0; 2x —3y=0 and 3x + 5y =15.
5. Using the same axes and the same scales indicate the region which simultaneously

satisfies the inequalities
x=0, y=0, x +2y=8 and 3x +2y =12.

6. Using the same axes and the samé scales plot the inequalities
x=0,x+2y=4and x—y—2=0.
Shade in the region that satisfies all three incqualities simultaneously.

7. Using the same axes and the same scales indicate the region which simultaneously

satisfies the inequalities
y=0, 3x—2y=0 and 3x +4y — 18=0.

Find the coordinates of the three vertices of this region.
8. Indicate the region which simultaneously satisfies these inequalities:
x=1,y=0; x+y—6=0and 3x+y—_1250.
Now find the coordinates of the four vertices of this region.




image2.png
2. Shade in the region that simultancously satisfies the inequalities

b 20, x—4y=0and x+y=5

3) of this region which gives 3x = y its maximum value
v its minimum value.

Find (i) the point (x, A
(i) the point (x, y) which gives 3¢
ame scales graph the following inequalities:

0 and 3x +2y - 12=0.
sfies these inequalities

3. Using the same axes and the sa
x=0,y=0,x+2y—8

Shade in the set of points which simultancously sa 0
Find a point (x, y) of this set which gives 2x + 3y a maximum value,
4. Shade in the region which simultancously satisfies the following inequalities:
0, 2x+y=8and x+3y=9.

x=0,

Find the point (¥, y) of this region which gives
(i) 2x +4y a maximum value
(ii) 3x—y a minimum value

5. Graph the inequalities A, B and C as follows:
0; B:6x—y=0and C:2x +3y —20=0.

Shade in the region AN BN C.

Find the point (x, y) of this region which gives
(i) 3x+ 1y a maximum value
(i) 5x—y a mimimum value.

6. Graph the following inequalities:
x=0; y=0; 8x+ 12y =96 and 8x + 6y =72.

Shade in the region which simultancously satisfies all four inequalities.
Find the four vertices of this region and hence find the point (x, y) which gives
i) 4x + 5y a maximum value
) x+3y a minimum value.

7. The point (x, y) lies within or
on the boundary of the shaded =
area shown on the right. L] I 11

Find (i) the maximum value
(ii) the minimum value
of 3x+y,

10





